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Please check that this question paper contains 39 printed pages.

Please check that this question paper contains 34 questions.

Q.P. Code given on the right hand side of the question paper should be
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before attempting it.

15 minute time has been allotted to read this question paper. The question
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the students will read the question paper only and will not write any
answer on the answer-book during this period.
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(iv) W@ & gl %Y & | el & dacT v & ey & Jo) & I o7& & /
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fabeq 11 : 3faeiera @i

(v) %97 &1 & 16 (V7T %) 797 ¥97 G471 27 & 30 (47T @) Fglaehed1q JHR & o7
g 99% Jo71 3% FT 8 |

(vi) 397 G&IT 17 @ 20 (97T %) T4 577 G&I7 31 37K 32 (9T @) TG-FFHIT TR &
97 8 | Ic9% Y97 3 37H] H & |

(vii) Y97 T&IT 21, 22 (Y77 &) 97 F94 G&I7 33 (YT @) H-3HIT bR & 77 & |
Jeqd o7 4 37H FT 5 |

(viii) Y97 G&IT 28 T 26 (YFT &) TIT F97 G&IT 34 (Y777 &) Fe-370T JHRIl 3 F97
g | 39% I97 6 37H] HT 3 |

(ix) F97-97 7 GaF [FHcq 751 foar T & | I, &% YT & Fo o 7 AR [@dHT
HT FIT 1697 AT F |

T %
(TTSET wHT qUT SEITET % T S

1. (%) 31gd, o917 qon €iar T FH H EEER o d9 8:7:5 % UM H

A w1 R wE 3 |a®ﬁﬁwﬁﬁ%m%mwm

TEER % &Y H yov fem mn, S se @ ®9 9 g @ At

fopa | SIfeY o JoIwT o TG 1T STy -fawTeH 31gdTE g 1
A T7:7:5:1 B) 4:7:5:4
(C) 8:7:5:4 D) 7:5:8:4

AYAT

(@) %R e SR Uh BH H WIEGR ¥ G914 : 3 U H THETH I
fosrom w0 & |ﬁagﬁa@mﬁmﬁﬁgm%mwm
Hﬁm%mﬁm&m,mgmwﬁﬁaﬁam%mmﬁ
Jifemfea fepam | wfre, o1 aen gfte o1 = enmy-fawS STqua g 1

(A) 4:3:3 B) 2:1:3
C) 2:2:3 (D) 4:3:1
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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.

(it)  This question paper is divided into two parts — Part A and Part B.

(iii) Part A is compulsory for all candidates.

(iv) Part B has two options. Candidates have to attempt only one of the given
options.
Option I: Analysis of Financial Statements
Option II : Computerised Accounting

(v) Questions number 1 to 16 (Part A) and Questions number 27 to 30 (Part B) are
multiple choice questions. Each question carries 1 mark.

(vi)  Questions number 17 to 20 (Part A) and Questions number 31 and 32 (Part B)
are short answer type questions. Each question carries 3 marks.

(vii) Questions number 21, 22 (Part A) and Question number 33 (Part B) are Long
answer type-I questions. Each question carries 4 marks.

(viit) Questions number 23 to 26 (Part A) and Question number 34 (Part B) are Long
answer type-II questions. Each question carries 6 marks.

(ix)  There is no overall choice. However, an internal choice has been provided in few
questions in each of the parts.

PART A

(Accounting for Partnership Firms and Companies)
1. (a)  Atul, Beena and Sita were partners in a firm sharing profits and
losses in the ratio of 8:7:5. Damini was admitted as a new
partner for %th share in the profits which she acquired entirely

from Atul. The new profit sharing ratio after Damini’s admission

will be : 1
(A 7:7:5:1 B) 4:7:5:4
(C) 8:7:5:4 D) 7:5:8:4

OR

(b)  Rushil and Abheer were partners in a firm sharing profits and
losses in the ratio of 4 : 3. They admitted Sunil as a new partner
for %th share in the profits of firm, which he acquired %th share

from Rushil and %th share from Abheer. The new profit sharing

ratio of Rushil, Abheer and Sunil will be : 1
(A) 4:3:3 B) 2:1:3
CC) 2:2:3 D) 4:3:1
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2. WY, SINE qUT <9 T BH H HIEIGR ¥ AT 5:3:2 % ITIM H IHI R
faaTem td & | 9@ &I AW H T 95,000 T TRE & TS | 38 DR g3 (R
ol Sl 1 3THF qUT T S-SR 989 U1 | 31 A=, 2023 1 FHIG gL a9
o, BH 3 T 2,00,000 BT ATH A HIT | 319 gRT ARG I 3GHT TR H

ufyr & &9 4 & 7€ vl gt 1
(A) T 17,500 (B) < 35,000
(C) ¥ 25,000 (D) < 10,000

3. 3Te, fuare qo Y9 U ®H H WiEieR 9 | 31 W™, 2023 Wi BH 1 fqued |
T | TSR 4 T 50,000 J&I oI & BrAlaR I 3T T 60,000 Hi TRT &
3T FeR & &9 4 T 45,000 § o foram | AW AR &1 PIaW 3% = g

foma T | 2 g0 YA Sl I areft ufi gnf 1
(A) T 10,000 (B) ¥ 50,000
(C) T 45,000 (D) < 15,000

4. TRE, TS99 qo1 A TH BH W HEGR 9 qAT AWM T faweH
S-S0 Hid ¥ | 36T ol sUsK & 9T & {970 U U 9i8ier o &9 ° Y99
femm o | e 319 Wit <t Ot qen @ana SR T @R | @t st 6
UNEEIRCEIEGRCRIRSIL I 1
(A) U HIEERT % sTe [ 1A §

(B) U HTEER % S ¢ 379d §
(C) U HTER o s= &1 ST{uTd |

(D) W HEeRl & o= =T 31U §

5., TUolad, S9 G Hid Uh BH H TEGR ¥ A 5:3:2 % UM H
gty i e 9 | 3R S R e e F w3 e o
TrEeR o w9 H g feam | ST Sraties oht @3 % fore wewd & g | yew
# fafsr W woem, 99 dw w@ Hw G, @ff GuEsE % weEn
HAS: T 1,20,000, T 80,000 AT T 1,00,000 ot | ST GRT A% g YSi hHI

Tfst ﬁ"'ﬁ : 1
(A) T 75,000 (B) < 60,000
(C) T 65,000 (D) < 70,000
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2. Abhay, Boris and Chetan were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. Boris was guaranteed a profit of ¥ 95,000. Any deficiency
on account of this was to be borne by Abhay and Chetan equally. The
firm earned a profit of ¥ 2,00,000 for the year ended 315t March, 2023.
The amount given by Abhay to Boris as guaranteed amount will be : 1
(A) < 17,500 (B) < 35,000
(C) < 25,000 (D) < 10,000

3. Aavya, Mitansh and Praveen were partners in a firm. On 315t March,
2023, the firm was dissolved. Creditors took over furniture of book value of
T 50,000 at T 45,000 in part settlement of their amount of ¥ 60,000. The

balance amount was paid to them through cheque. The amount paid

through cheque will be : 1
(A) T 10,000 (B) < 50,000
(C) < 45,000 (D) < 15,000

4, Piyush, Rajesh and Avinash were partners in a firm sharing profits and

losses equally. Shiva was admitted as a new partner for an equal share.
Shiva brought his share of capital and premium for goodwill in cash. The
premium for goodwill amount will be divided among : 1
(A) Old partners in old ratio

(B) New partners in new ratio

(C)  New partners in sacrificing ratio

(D)  OIld partners in sacrificing ratio

5. Alex, Benn and Cole were partners in a firm sharing profits and losses in
the ratio of 5 : 3 : 2. They admitted Dona as a new partner for %th share
in the future profits. Dona agreed to contribute proportionate capital. On
the date of admission, capitals of Alex, Benn and Cole after all

adjustments were ¥ 1,20,000; ¥ 80,000 and ¥ 1,00,000 respectively.

The amount of capital brought in by Dona will be : 1
(A) T 75,000 (B) < 60,000
(C) T 65,000 (D) < 70,000
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6.  IHUT(A): TAF HEHCR THE@ T b WAy g |t wrEieil % T wh
Faf¥enet ofi ® |

HRU(R):  ©EEh HAfEm & giwn % IHER, @Eel oees wf

greier gra A1 auft Y 3R 4 399 § Tt wh & g I o

T 2 |
Frefafaa & @ g faseq =1 =@ HifSw . 1
(A)  ANRYT (A) TUT SR (R) SHT TE 8, A HROT (R) Al (A)
TE ST T 2 |
(B) SRR (A) 9T HRUT (R) 1 H&l @ 9T SR (R) MR (A)
TE SATE 7 |

(C) AT (A) T 7, aifehd SR (R) Terd ® |
(D)  3TRYH (A) TTeTd B, TR 1T (R) T8 2 |

HETleTigd Tl 1E9fd &1 9137 @or 398 &1 73 a7 & STYR | 597 &7 7 97
8 & I 19T :
T T Feitar g ¥ Raei o9 el T wH K Eer ff awm 2: 1%
I H Al 1 faweH I off | 1 o189, 2023 H Ik YS @I HA:

T 5,00,000 92T T 10,00,000 % Y 21 & I | K @ H 10% 91Nk X
O ISl WA ¢ B IEEE AT | BH F 99 % GRE T 90,000 T T ARG

foraT |

7. oW1 o fU I areht gt W ST < afs g 1
(A) ¥ 50,000 (B) ¥ 1,00,000
(C) < 60,000 (D) < 30,000

8.  dIdl s Y | 9N B : 1
(A) < 60,000 (B) < 30,000
(C) % T&l (D) ¥ 1,00,000

9. Uowl fafes 3 30% ™ W T 10 3% & 50,000 THAT 3790 /AT & oI
Aded ImHfa feu | HIEEf TR &1 YW 3eed W foham ST o |
2,50,000 31T/ o fu e wrd g | Rl 9 |t ARl H

U STMUR W 370 /I bl &fed w1 vl fon | st gro
o <ht TTE TR o : 1
(A) ¥ 32,50,000 (B) T 15,60,000
(C) T 39,00,000 (D) T 26,00,000
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6. Assertion (A) : Each partner is a principal as well as an agent for all the
other partners.

Reason (R): As per the definition of Partnership Act, partnership
business may be carried on by all the partners or any of
them acting for all.

Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D)  Assertion (A) is incorrect, but Reason (R) is correct.

Read the following hypothetical situation and answer questions No. 7 and 8 on

the basis of the given information.

Abha and Babita were partners in a clay toy making firm sharing profits
in the ratio of 2 : 1. On 15t April, 2023, their capital accounts showed
balances of ¥ 5,00,000 and ¥ 10,00,000 respectively. The partnership
deed provides for interest on capital @ 10% p.a. The firm earned a profit
of T 90,000 during the year.

7. The amount of interest on capital allowed to Abha will be : 1
(A) T 50,000 (B) < 1,00,000
(C) < 60,000 (D) < 30,000

8. Babita’s share in profit will be : 1
(A) < 60,000 (B) < 30,000
(C) Nil (D) < 1,00,000

9. Alfa Ltd. invited applications for 50,000 equity shares of ¥ 10 each at a
premium of 30%. The whole amount was payable on application.
Applications were received for 2,50,000 shares. The company decided to
allot the shares on a pro-rata basis to all the applicants. The amount

refunded by the company was : 1
(A) T 32,50,000 (B) < 15,60,000
(C) < 39,00,000 (D) < 26,00,000
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10. wfwa (emfad) ¥&f, ISht w1 98 A 7, f8 et wro h gumE
M o fafcs AT T8 ST b | 1
(A) Tifia (B) Wi TS /3nfea
(C) 3rfad (D) YA

11. S fafies 7 2 10 T8 & 25,000 Twar 3w/ frifya few | afst s

YA = TR | HET o

JATEET W — T 49fq 3AA/IXW

JE W — T 5fq 3W/IW

o Ug 3AfqW ARAT W — N
veatfod @t o7 /ARl W fU ofeed W gu SR smefed = feu M
1500a3ﬁ/®aﬁaﬁ@ﬁwmméawwﬁiﬂwﬁnélm%
A &g 39 3 /IR T &1 (forfeit) X o= T | gom wa 2ifem I
1wl Tk | &l TS ot | ST/ TN (forfeit) % THA 3T/ Yt @I H

T fopu AT - 1
(A) T 15,000 (B) ¥ 24,000
(C) ¥ 13,500 (D) ¥ 18,000
12.  3YHYT(A) : JETAE (M) FOGAT bl LR FOGAT & 99 & oft I
i

FRU(R): I 30 bR o UGS o AT gRI IUR 9T §6F o THINe
& foru oft 1S o=m 7€ Tt B | 3 o wEE fY wmfd 9w A
Teh dEiehlicTeh 3TTY o THIIT W MG 8id 3 |

Trafaiaa & 9 92t foarew =1 =74 il 1
(A) AR (A) AT HROT (R) A1 T&l & qT RO (R) AR (A) H
TE AT 7 |
(B) AR (A) 9T R (R) TH1 T&l &, WAfehd R (R) IINHUT (A) H
g = T |

(C) fwem (A) TeTd B, SAfeh RO (R) Wl B |
(D) 3R (A) T ], aifehd SR (R) Terd ® |

13. (%) i /ratfan @ :Aftm gt ey, S8 araa ° fewent g
HTTH:@TI'SIT% 1
(A)  30m I @a H# 9m h S @
(B) AW Ir=AT Wid H SHT S A |
(C)  3791/3R Gt @rd | A1 H S 7
(D) 3797/3R G5t @rd | S I A 7
AAAT
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10. Reserve capital is that part of capital which cannot be called
except at the time of winding up of the company. 1
(A) Issued (B) Called up
(C)  Uncalled (D) Nominal

11. Xeno Ltd. issued 25,000 equity shares of ¥ 10 each. The amount was
payable as follows :

On Application — T 4 per share
On Allotment — ¥ 5 per share
On First and Final call - Balance

All the shares offered were applied for and allotted. All the money due on
allotment was received except on 1,500 shares. These shares were
forfeited immediately after allotment. First and final call was not yet
made. At the time of forfeiture, Share Capital Account will be debited by : 1

(A) T 15,000 (B) T 24,000
(C) T 13,500 (D) ¥ 18,000
12. Assertion (A) : Irredeemable debentures are also known as perpetual
debentures.
Reason (R): The company does not give any undertaking for the

repayment of money borrowed by issuing such
debentures. They are repayable on the winding up of the
company or on the expiry of a long period.

Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

(C) Assertion (A) is incorrect, but Reason (R) is correct.
(D)  Assertion (A) is correct, but Reason (R) is incorrect.

13. (a) Money received in advance from shareholders before it is actually
called up by the directors is : 1

(A) debited to calls in advance account
(B) credited to calls in advance account
(C)  debited to share capital account
(D)  credited to share capital account

OR
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(@) viavfaal o JEaE AYST Th b g I At & MHEE 6

T & ot e fsht i e 99 o ST S Rt e ST R 1
(A) 370 /3R T A B
(B) vl Usft foshed Frem
(C) 730 /3 w1 el weme
(D) W i

14. (%) T 100 T Tk 3/IW, 59 ® = 80 Itd & TT &, T 20 hi fow
FTHT TR T PTAE 7 i T E B 1 | 98 =Iad qod 9 W 3d

3791 /3R Wi GA:Fifaa fomam S et B, B 1
(A) T 120 (B) T 100
(C) < 80 D) T 20

rE

(@) T fafees 3 T 10 I9% & 500 3790 /W *T1 g0 W o=, o9
T 7 9fd AW/ HT YA TR TR o7 | 39 ST /IR W T 9 Ul
3191 /3RR QUi Sea A fifa o feam man | ot g= @rd # ss=and

<1 S 9Tt Tisr ge 1
(A) T 3,000 (B) T 5,000
(C) T 4,500 (D) < 3,500

15. (%) S, Teh YT BEH T BY T HEER I q97 5: 3 : 2 % AU H i
&1 I & 9 | 1 310d, 2023 € IR A9 ATH-FAWTSH 31U
2:3:5 H qREldd S 1 (U fofell | ATY-TawTSH 19 § aiEc oh
fafsr @ = 90,000 1 AW FIF o1 | WRER 4 Foi foRn foh wme

T ohl §1T 8] S |
ST 1 99TE fg@™ & fofu eravaes sHmEieE wfafse grft 1
() (%)
(A) 3 w1 §f @ e 27,000
HEH & U @1d ° 27,000
B) 1 1 gl @ran T 90,000
HEH & U @1d ° 90,000
©) B I IFﬁ ECIk qm 27,000
SER SRS 27,000
(D) @M HI q;Gﬁ Qrdl 9 90,000
SR cikeicks 90,000
Jrqa
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(b)  An offer of securities or invitation to subscribe securities to a select
group of persons is termed as : 1
(A)  Buy back of shares
(B) Employee stock option plan
(C)  Private placement of shares
(D) Sweat Equity

14. (a) A share of ¥ 100 on which ¥ 80 is received is forfeited for
non-payment of final call of ¥ 20. The minimum price at which

this share can be reissued is : 1
(A) T 120 (B) < 100
(C) < 80 (D) <T 20

OR

(b)  Shiv Ltd. forfeited 500 shares of ¥ 10 each on which ¥ 7 per share
was paid. These shares were reissued for ¥ 9 per share fully paid.

Amount transferred to Capital Reserve Account will be : 1
(A) T 3,000 (B) ¥ 5,000
(C) T 4,500 (D) T 3,500

15. (a) Dan, Elf and Furhan were partners in a firm sharing profits in the
ratio of 5: 3 : 2. With effect from 15! April, 2023, they decided to
change their profit sharing ratio to 2:3:5. There existed a
General Reserve of ¥ 90,000 on the date of change in profit
sharing ratio. The partners decided not to distribute General

Reserve.
The necessary adjustment entry to show the effect of the above will
be : 1
. Dr. Amount | Cr. Amount
Date | Particulars (2) (3)
(A) Dan’s Capital A/c Dr. 27,000
To Furhan’s Capital A/c 27,000
(B) Dan’s Capital A/c Dr. 90,000
To Furhan’s Capital A/c 90,000
(©) Furhan’s Capital A/c Dr. 27,000
To Dan’s Capital A/c 27,000
(D) Furhan’s Capital A/c Dr. 90,000
To Dan’s Capital A/c 90,000
OR
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(@) T, 2t qun fafyr v ®d # @EER ¥ dA 3:2:1 &% FUE H
Al T fouST o 9 | 1 30, 2023 § 3= wios § ATH-gI o
oM 1:2:3 % o ® & w1 foi foen | 3w fafy o6 e
@ |# T 60,000 T A AT o7 |

AIH-EIH @Td % AT 1 sied o foTu 3Trerges AsHm=n yfafee g 1
- qu iy | SO
fe (%) (%)
(&) feram w1 oft @ | 30,000
T 1 St @At T 20,000
fafer =61 gSft @Tan qm 10,000
A @ 9 60,000
(B) feram w1 oft @ T 10,000
<19 1 Sl @ am 20,000
fafy =1 g5t @man T 30,000
A @ ° 60,000
©) fon 1§t T T 20,000
fafa & 46t @ & 20,000
(D) fafer @1 $ft @ T 20,000
e = St @ | 20,000

16. (%) 3, feoam qon «iefl T BH § WHER & AT 3:2:1 % UMW H
AT 1 Ta9TSH A 9 | sl Jaraa 8 T | Sl 6H e
% 1 319 duT feear 1 A A-fawTe o1gUTd 5: 3 o | AV WK

1 AU ST BT 1
(A 3:2 (B) :
(C) 3:1 (D)

Jreran

(@) tar, FT 9T oTgel UH BH F GEeR & @ 3:2:1 % ouW i
AT T fa9TSH d 9 | Iqa QaTfad 81 T 3R 3FehT Wit Hidr
T AT G 1:4 % AT H o o0 T | IAg9 s HETHG % 91g

Hidr Qe ST ST T ATH-fAHTSH STTITd B 1
(A 3:2 (B) 8:7
C 7:3 D) 2:3
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(b)  Sia, Tom and Vidhi were partners in a firm sharing profits in the
ratio of 3:2: 1. With effect from 15t April, 2023, they decided to

share profits and losses in the future in the ratio of 1: 2 : 3. There
existed a Debit Balance of ¥ 60,000 in Profit and Loss Account on

that date.
The necessary journal entry for distribution of the balance in the
Profit and Loss Account will be : 1
. Dr. Amount | Cr. Amount
Date Particulars ( F ) ( F )
(&) Sia’s Capital A/c Dr. 30,000
Tom’s Capital A/c Dr. 20,000
Vidhi’s Capital A/c Dr. 10,000
To Profit and Loss A/c 60,000
(B) Sia’s Capital A/c Dr. 10,000
Tom’s Capital A/c Dr. 20,000
Vidhi’s Capital A/c Dr. 30,000
To Profit and Loss A/c 60,000
© Sia’s Capital A/c Dr. 20,000
To Vidhi’s Capital A/c 20,000
(D) Vidhi’s Capital A/c Dr. 20,000
To Sia’s Capital A/c 20,000

16. (a) Anju, Divya and Bobby were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Bobby retired. The new profit sharing
ratio between Anju and Divya after Bobby’s retirement was 5 : 3.

The gaining ratio of remaining partners will be : 1
(A  3:2 B) 5:3
) 3:1 D) 2:3

OR

(b)  Mita, Veena and Atul were partners in a firm sharing profits and
losses in the ratio of 3 : 2: 1. Atul retired and his share was taken
over by Mita and Veena in the ratio of 1 : 4. The new profit sharing

ratio between Mita and Veena after Atul’s retirement will be : 1
A  3:2 B 8:7
C) 17:3 (D) 2:3
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17. AR, SufiR qun famr s w0 § GTEER 9 997 3:3:2 % STU H oy-gI
1 fawred wd o | for gartEe g T | AR qen xR 3 wiess o
AT 1 f9TSH 1: 2 % 3 H i 1 FHo fon | fern 1 danfaafa
% T ®H i wfa 1 qedmed T 5,40,000 TRam T
AT g I AT KT qen e S dartei | a1
(Tnfa Tt @ie fom1) o o fote staveres T afafse Hifse | 3

18. TS qUT & T FH § AreigR off qen IRl wFw doit T 2,50,000 off | gfiwa
&6 I X 10% oY | fUse IR aui % oy e TR 9

=
2019 - 20 35,000
2020 -21 25,000
2021 - 22 32,000
2022 - 23 33,000

T4 2022 — 23 % IAfaH WY (W) H1 oAbt T 5,000 Al fopam T |
et T a9t & 30gd 1y & i a9 & I & YR W A 6 a6l

TUET 6T | 3

19. (%) uIsw fafies 9 gaemge fafies @ T 4,80,000 % T&Hd T IodF W
T 3,60,000 s uREmfwi dem T 1,00,000 % TGRS ITRRIEw
fFaT | 9 god o P WEU TEd fafie 4 T 100 JH &
9% FOTIAT T 4% §g T TFTm T |
TIey fafiee & geael # STaweh Uskm=n gfafsear Hifse | o
T ! TSl ¥ WISy | 3
Jrra

o

(@) 9@ fafes 9 tar fafes ¥ T 18,00,000 % HEHd % oI W
T 25,00,000 h afEERE d°T T 5,00,000 H SIATIA HT AfUET
Fam | 9 ¥ % YAH &Y I9a s 4 T 100 T® h
11% o9t St 20% Hiftrm w et T |
e fafiee it geasl 4 stavs Ueemen gfafsear #ife | s
T ! TILAT 9 T | 3
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17. Aamir, Bashir and Chirag were partners in a firm sharing profits and
losses in the ratio of 3 : 3 : 2. Chirag retired. Aamir and Bashir decided to
share profits and losses in future in the ratio of 1:2. On the day of
Chirag’s retirement, goodwill of the firm was valued at ¥ 5,40,000.
Calculate gaining ratio and pass necessary journal entry to record the
treatment of goodwill (without opening goodwill account) on Chirag’s

retirement. 3

18. Pearl and Ruby were partners in a firm with a combined capital of
T 2,50,000. The normal rate of return was 10%. The profits of the last

four years were as follows :

=
2019 - 20 35,000
2020 -21 25,000
2021 - 22 32,000
2022 - 23 33,000

The closing stock for the year 2022 — 23 was overvalued by ¥ 5,000.

Calculate goodwill of the firm based on three years’ purchase of the last

four years’ average super profit. 3

19. (a) Sunrise Ltd. acquired assets of ¥ 3,60,000 and took over creditors
of ¥ 1,00,000 from Moonlight Ltd. for an agreed purchase
consideration of T 4,80,000. Sunrise Ltd. issued 9% Debentures of
T 100 each at a discount of 4% in satisfaction of the purchase
consideration.
Pass necessary journal entries in the books of Sunrise Ltd. Show
your workings clearly. 3

OR

(b)  Grapple Ltd. took over assets of ¥ 25,00,000 and liabilities of
T 5,00,000 from Allore Ltd. for an agreed purchase consideration
of ¥ 18,00,000. Grapple Ltd. issued 11% Debentures of ¥ 100 each
at 20% premium in satisfaction of the purchase consideration.

Pass necessary journal entries in the books of Grapple Ltd. Show

your workings clearly. 3
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20. (%) HiEd, GgW Ul Afed Th BH H WK ¥ qUT 3:2:1 F JJUE
A 1 foueH ot & | IRl wmR gSi sEs: T 2,00,000,
< 1,00,000 A1 < 1,00,000 ff | 31 #=, 2023 I T Y a9 H
3T WA H USll W &S 5% T T hl 31U 8% AT & & STHT
Tz T |
AT THREINSH st gfafse FIfe | 399+ 1 Tosear @ goige | 3

AT
(@) v wa e T ®H U GIEER 9 91 2: 1 % I H AT

fouTe a9 | 31 4N, 2023 I 1Y T IMEOT 1 GHARISH B 5
9T 3k UGSl @rdl 1 WY HAS: T 90,000 AT T 80,000 o |
31 T, 2023 I GHIA BT Y o [T Yg A9 I TR T 30,000 ff |
Y o TRE T 4 T 40,000 a1 FfA 3 T 20,000 HT 30T foRAT |
a1g H, = fean T 6 Rt H 10% afte @ ¥ Ui W S @
fear T a1 | TS % RO W T 3,000 9T [fad & 3MEW W
T 2,000 %1 A ft guTid & fomam T o |
AT FHEISH USHTHET Tfase hIfT | 394 ¥ ol Tosedr § eise | 3

21. fyenfes fafies = 10 9% & guar <= /3=w # o £ 10,00,000 i

Tfrepd ISt < A9 USfieha off |
TEA SHAT W1 50,000 HHeT R/ o e wedre femn | it w0 yrae e
T T AT o

CIEG R - T 2Yfd 3A/IW

& W — T 69l 3W/IK

o Ug 3AfqW ARAT W — N
frTe Ul &9 & SA1%e 83T | had 4,000 FHAT 30T /AR T A qAT JoH
ud Afqw AT TR o Siew axft o iyt faftag ure s ol 12 | 3 wwan
7T /T T 80T L Torarm T |
Hrgt SAfafm, 2013 i ST 11T, 90T 16 STTER Hrot & feafa faawon §
3191 /3R YSf 1 guIse | sueh fotu @rdl o died’ off dam fifv | 4
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20. (a) Mohan, Suhaan and Adit were partners in a firm sharing profits
and losses in the ratio of 3:2:1. Their fixed capitals were :
< 2,00,000, T 1,00,000 and ¥ 1,00,000 respectively. For the year
ended 315t March, 2023, interest on capital was credited to their
accounts @ 8% p.a. instead of 5% p.a.

Pass necessary adjusting journal entry. Show your workings clearly. 3
OR

(b)  Manoj and Nitin were partners in a firm sharing profits and losses
in the ratio of 2:1. On 315t March, 2023, the balances in their
capital accounts after making adjustments for profits and
drawings were < 90,000 and ¥ 80,000 respectively. The net profit
for the year ended 315t March, 2023 amounted to ¥ 30,000. During
the year Manoj withdrew ¥ 40,000 and Nitin withdrew ¥ 20,000.
Subsequently, it was noticed that Interest on Capital @ 10% p.a.
was not provided to the partners. Also Interest on Drawings to
Manoj ¥ 3,000 and to Nitin ¥ 2,000 was not charged.

Pass necessary adjusting journal entry. Show your workings clearly. 3

21. Shivalik Limited was registered with an authorized capital of
< 10,00,000 divided into equity shares of ¥ 10 each.
It offered 50,000 equity shares to the public. The amount was payable as

follows :
On Application — T 2 per share
On Allotment — < 6 per share
On First and Final call — Balance

The issue was fully subscribed. All the amounts were duly received
except the allotment and first and final call money on 4,000 equity
shares. These equity shares were forfeited.

Present the Share Capital in the Balance Sheet of the company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to
Accounts’ for the same. 4
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22.  3TAI, JeeAT QAT AR Toh BH § AR off T 5: 3: 2% T H ATY-gIH
o1 foarem et off | 81 9, 2023 1 IR Tt foawer e e @ o
31 W, 2023 i AT, T=GAT qAT AT aht Feerfa oo

N rrfr N rrfr
St fraw 80,000
ST 80,000 I3 1,00,000
gl 70,000 i 40,000
AT 60,000 | 2,10,000 | STeR 50,000
= 9= 30,000 | S | Uhs 30,000
er 60,000
3,00,000 3,00,000
39 Tafy W ®H 1 forere &1 T |
()  OfEERwEl § e TeR e s
TR — T 40,000
ik - T 50,000
g9 - T 60,000

(i)  25% T @l A1 9 T 18,000 H & f9€ | 39 o g&a 79 € 10%
HE T I g o e mw |

(iii) ¥ 20,000 % FHSA AT T YPIAM TRA gRT Fohaa =1 |

T QT IR HINT |

23. 3I9eR, G qur Ufed ush wH H AHER I 991 3:1: 1% UM H ATH-BIH
1 fouTe 5 9 | 31 T, 2023 i 3T fEafd foemor i TR & o

31 WTH, 2023 Wi 3T, Yud a1 Afaa 1 fearfa foawon

N rrfr S 11;‘:?21
[ E AN 90,000 | S 20,000
T g= 60,000 | ¥ 40,000
it Gy 1,50,000
T 60,000 TRl gigm T 60,000
giia 40,000
qfera 20,000 | 1,20,000
2.70,000 2.70,000
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22. Archana, Vandana and Arti were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. Their Balance Sheet on 315t March, 2023
was as follows :

Balance Sheet of Archana, Vandana and Arti as at 315t March, 2023

Liabilities Amount | cets Amount
Capitals : Investments 80,000
Archana 80,000 Plant 1,00,000
Vandana 70,000 Stock 40,000
Arti 60,000 | 2,10,000 | Debtors 50,000
General Reserve 30,000 | Cash at Bank 30,000

Creditors 60,000
3,00,000 3,00,000

The firm was dissolved on the above date.
(1) Assets were realised as follows :

Debtors — ¥ 40,000
Stock — ¥ 50,000
Plant - ¥ 60,000

(i1)  25% of the Investments were taken over by Vandana at ¥ 18,000.
Remaining Investments were taken over by Archana at 10% less
than its book value.

(i1i) Expenses of realisation ¥ 20,000 were paid by Arti.

Prepare Realisation Account. 4

23. Azhar, Sumit and Robit were partners in a firm sharing profits and
losses in the ratio of 3 : 1 : 1. Their Balance Sheet as at 315t March, 2023,
was as follows :

Balance Sheet of Azhar, Sumit and Robit as at 315t March, 2023

A A
Liabilities oY | Assets mount
Creditors 90,000 | Bank 20,000
General Reserve 60,000 | Stock 40,000
Capitals : Debtors 1,50,000
Azhar 60,000 Fixed Assets 60,000
Sumit 40,000
Robit 20,000 | 1,20,000
2,70,000 2,70,000
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30 54, 2023 ! Ufed h1 7cg & TS | FIEER! i@ o ATIR AT o
EAUBEARE IS INICOIERCIPEAIEE

(i) 39 ISft @I 1 I |

(i)  |HE g9 H 3FhT I |

(iii)  10% e R & TSt W M |

(iv) EFTd H 3GehT 9T | B I SN 1 Jodihd [USal 9R i o |d

ATH % T IO & YR T TRl ST@ |
(v) T H fafy 9% o § g Wi et o e aY % @ %
LR W hl S |
RENENERGIEDE
>
2019 — 20 (3,000)
2020 — 21 28,000
2021 — 22 16,000
2022 — 23 15,000

3ok I ST 3l TE HL o 110 UTSd T Yol @IAT AR AN | 6

24. 130, 2022 I Jfoa fafies 3 T 100 9% & T 10,00,000, 7% 0TI
&1 ftaa 69 Nftem w T, foee e uiw ad uvemg 4% e w e
SO | SFT o Siavfd S @1d § < 30,000 T AT o7 |

(%) = & ftea qun SromaEt & et W g o yem 9 % 37d d &
wfefa shftem @@ & afr 1 swim @ gu smfafed w@ % fag
I USATH=T Tferfseat hifa |

(@) 31 T, 2023 H G §C A % (¢ KON b HIEA W EH @A
Tar Fifs | 6
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A
Robit died on 30t June, 2023. According to the Partnership deed, Robit’s
legal representatives were entitled to :

) Balance in his Capital Account.
(i1))  His share of General Reserve.
(i1i) Interest on capital @ 10% p.a.

(iv)  His share of goodwill. Goodwill of the firm was valued on the basis

of thrice the average of the past four years’ profits.

(v)  His share in profits up to the date of death on the basis of the
profit for the last year.

Profit for the previous years were :

=
2019 -20 (3,000)
2020 -21 28,000
2021 - 22 16,000
2022 - 23 15,000

Prepare Robit’s Capital Account to be rendered to his legal representatives. 6

24. On 15t April, 2022, Zubian Ltd. issued ¥ 10,00,000, 7% Debentures of
T 100 each at a premium of 6%, redeemable at a premium of 4% after
five years. The company had a balance of ¥ 30,000 in Securities Premium

Account.

(a) Pass necessary journal entries for issue of debentures and for
writing off ‘Loss on Issue of Debentures’ utilising Securities

Premium Account at the end of the first year itself.

(b)  Prepare ‘Loss on Issue of Debentures Account’ for the year ended
315t March, 2023. 6
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25. (%) wEed fafes 3 T 10 Y% & 1,00,000 FHAT M /3IR[ HI T 6 Ufd
19/ & fifmm w fifig w0 & fou smaen smmta fee | iyt st
P =T TR & AT o ¢

T Td e W — T 89 3fw/3w (3 3 Tfiftrew @fgq)
T T Afqw I W — 39 (Hiftem afza)
1,60,000 31/ % Q. 3eed o0 8T | 10,000 3=/
S Wl T HL TG T AT I SAACHl hl AMHINAS MUR W
JATEeA L fean T | 3ATEET Ug e Wyt Afdfws eAutst 9y
& e | i, " 200 /A 1 e R T AT, W U
AT AT TR ¢4 | T8 @1 | I8eh 379N /IFA T &0 L o
T | g fehu o meft STEn /SRR o2 5 i 3T9r/3eR ot ved g
Frtfora o feam o |
wqeA foafies St qeaehl # 3ATavae UsHre=n yfafseat Hifse | 6
BPE)]

(@) fiefre fafies 3 T 10 9% & 80,000 THAT /A=W & e &
foTu srmaed rmba fehw | TfdT &1 Pram = TR & ST ot ¢
3Tded W — T 3Yfd 3/3INR
T W — = 29fd 3T9/IW
Y Ud I It W — A
1,50,000 391 /3RA < fIQ arreigd 9t B | 10,000 IFAT/WAU
AP B T HL (&A1 T qAT AT 3Teeehl bl AHfARGd AR W
AT 3TeeA foham T
guit 6 — 80,000 3IM/IT o AEGHI I 40,000 3II/IRK
armafed feb mmw |
guit @ - 60,000 /I & AECH DI 40,000 I/
JTEfea fepu MU |
ATeed W I Afaics 9y 1 THRISH e a9 Y99 T 3Afad
JMEET W ST U | HL fean M= | 37Eed aen YU| g 3ifaq Ired1 |
<7 gyt Uiy foferaa s o6 &t 8 |
Tiefere Tafiies 1 g&aehi H STEwh UsHIH=T Jfafsedi i | 6
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25. (a) Qumtan Ltd. invited applications for issuing 1,00,000 equity
shares of ¥ 10 each at a premium of ¥ 6 per share. The amount

was payable as follows :

On Application and Allotment — ¥ 8 per share

(including premium ¥ 3)

On First and Final call — Balance (including premium)
Applications for 1,60,000 shares were received. Applications for
10,000 shares were rejected and pro-rata allotment was made to
the remaining applicants. Excess money received on application
and allotment was returned. Dheeraj, who was allotted 200 shares,
failed to pay the first and final call money. His shares were
forfeited. All the forfeited shares were reissued at ¥ 5 per share

fully paid up.

Pass necessary journal entries in the books of Qumtan Ltd. 6

OR

(b)  Printkit Limited invited applications for issue of 80,000 equity

shares of ¥ 10 each. The amount was payable as follows :

On Application — T 3 per share
On Allotment — T 2 per share
On First and Final call - Balance

Applications for 1,50,000 shares were received. Applications for
10,000 shares were rejected and pro-rata allotment was made to
the remaining applicants on the following basis :
Category A — Applicants for 80,000 shares were allotted
40,000 shares.
Category B — Applicants for 60,000 shares were allotted
40,000 shares.
Excess money received on application was adjusted towards
amount due on allotment and first and final call. All the amounts
due on allotment and first and final call were duly received.

Pass necessary journal entries in the books of Printkit Limited. 6
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26. (%) iU e e v w0 ° @rger off 9ur 3:2 % U™ H ATI-gH W
foumem st off | 31 @, 2023 1 3T fedfa foeror e yopR & o

31 WTe, 2023 hi J[T AT {79 At Feerfe feremor

gt Tt giEEft 90,000
% 60,000 i (Vi) 38,000
Lasft 32,000 92,000 | TTER 30,000

qmE= = 30,000 | Uhg 52,000

S HUT 18,000

G 70,000

2,10,000 2,10,000

1 30, 2023 w1 38 W i Fefaiad sa W agerd § o fear ¢

(i) qﬂwﬁ%wﬁﬁmim%m?m,ooo STt S % w
T U1 T 50,000 9 ©ATid Hiftem & vt & fow amet |

(i) TR giErfaE | 30% i & | qeIsE ol T |

(iii)  TGfcAT (¥<Teh) T oA T 45,000 TohaT T |
(iv) S 0T T TaH L feam mm |
(v) &l aueHl o gvETq [iW qen aref i OSit  9l h IS

MR W aHMIG fohan S | St off feafa &1 Qe areiei
i, TEAfdh GRT 1 A TR ST 3Te@T I gRI AT

ST |
g QT TUT |IRIERI & Yot @I IR i | 6
HAYAT
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26. (a) Shubhi and Revanshi were partners in a firm sharing profits
and losses in the ratio of 3:2. Their Balance Sheet as at
315t March, 2023 was as follows :

Balance Sheet of Shubhi and Revanshi as at 315t March, 2023

Liabilities Amount |, csets Amount
Capitals : Fixed Assets 90,000
Shubhi 60,000 Stock 38,000
Revanshi 32,000 | 92,000 | Debtors 30,000
General Reserve 30,000 | Cash 52,000

Bank Loan 18,000

Creditors 70,000
2,10,000 2,10,000

On 15t April, 2023 they admitted Pari into the partnership on the

following terms :
) Pari will bring ¥ 50,000 as her capital and ¥ 50,000 for her

share of premium for goodwill for ith share in the profits of

the firm.
(i1)  Fixed assets were depreciated @ 30%.
(i11))  Stock was valued at ¥ 45,000.
(iv) Bank loan was paid off.

(v)  After all adjustments capitals of Shubhi and Revanshi were
to be adjusted taking Pari’s capital as the base. Actual cash
was to be paid off or brought in by the old partners as the
case may be.

Prepare Revaluation Account and Partners’ Capital Accounts. 6
OR
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VeV V)
(@) fif¥r, wifyr qen gfy ek o & ASER & dor wHHw: % %Qé%é:aqgcrm
0 AT 1 e & 9 | 31 W, 2023 i 3eh1 eyt feemor
=1 g @ o
31 AT, 2023 T {91, wrfor derm gy st feafa foemor
g Torrf} afme ot 80,000
fifar 36,000 @i (Wieh) 20,000
NN 30,000 G ALY 30,000
ar 20,000 86,000 | UHS 40,000
g g9 30,000
TR 54,000
1,70,000 1,70,000
1 3784, 2023 i FmfiRed vl | 9 ®F § Farfed & T
(i) TRl aiEsfadl 1 qedrehd T 56,000 foham i |
i) W T T 26,000 & @l (wfF) o form |
(iii) 91 K1 FETHIRT W HH hT @Afd 1 Jedrehd T 18,000 Tk
= |
(iv) T < St @I o I I 3Geh U WA H &R L T
= |
g @A 9T |ISIER o YSit @id dar Hife | 6
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(b)  Rishi, Shashi and Trishi were partners in a firm sharing profits

and losses in proportion of 11 and% respectively. Their

2’ 6
Balance Sheet as at 315t March, 2023 was as follows :

Balance Sheet of Rishi, Shashi and Trishi as at 315t March, 2023

Liabilities Amount | cets Amount
Capitals : Fixed Assets 80,000
Rishi 36,000 Stock 20,000
Shashi 30,000 Debtors 30,000
Trishi 20,000 | 86 000 | Cash 40,000

General Reserve 30,000

Creditors 54,000
1,70,000 1,70,000

Shashi retired from the firm on 15t April, 2023 on the following

terms :

1) Fixed Assets were valued at ¥ 56,000.
(i1)  Stock was taken over by Shashi at ¥ 26,000.

(i) Goodwill of the firm was valued at ¥ 18,000 on Shashi’s

retirement

(iv) Balance in Shashi’s Capital Account was transferred to her

loan account.

Prepare Revaluation Account and Partners’ Capital Accounts. 6
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CILRC]
foremea - 1
(ferfiar ferermomt =1 fergersron)
27. U HEGH! & WA U 1:27 | FAfaRea 4 @ ®H-8 <= &1 9iom 54
3TUTd | glhg HaM ? 1

(A) TIE ¥ I Ushs
(B) WIS ol 3R forsha
(C) O &l 349N A
(D) HIA &l G Y
28. vg=THU fob fr=fcifed # & -8 T 1 9o ‘SETeH TiafafiEt @ e
e g | 1
(A) TN Wl YA
(B) U W-fota swro) gro = <hl urfea
(C) e Mol wroht gro e < wifta
(D) <SR & gy 6t it
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g | Frafafed o @ SH-81 STANThdl T 95d SIE-Hl iy § 396 gl

T G HH hI FH I aHar § oy w9 @ 7 w@ar 2 2 1
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(C) I y§EA (D) ford SeY
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(@) AT ST AT Gefehet B U1 gehM <l awar @i feifa
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PART B
OPTION -1
(Analysis of Financial Statements)

27. The Quick Ratio of a company is 1 : 2. Which of the following transactions
will result in an increase in this ratio ? 1
(A)  Cash received from debtors
(B)  Sold goods on credit
(C)  Purchased goods on credit
(D)  Purchased goods on cash

28. Identify which of the following transactions will result in ‘Cash Inflow
From Operating Activities’: 1

(A) Payment to creditors
(B) Interest received by a non-finance company
(C) Dividend received by a non-finance company
(D)  Amount received from debtors
29. (a) Analysis of Financial Statements is useful and significant to

different users. Which of the following users is particularly

interested in the firm’s ability to meet their claims over a very

short period of time ? 1
(A) Labour Unions (B) Trade Payables
(C) Top Management (D) Finance Manager
OR
(b) ratios are calculated to determine the ability of the

business to service its debt in the long run. 1
(A) Liquidity (B)  Turnover
(C)  Solvency (D)  Profitability
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(D) %hg TF g qod

31. Pl JTUFEE, 2013 1 ST III, WM 1% AR 4 #ej HI Het &

feufa et & ger sifei o su-sfidet (afe i€ ) & wffepa Hifse 3
(%) ok T Seleprel o
(@) G 3R
()  3eH =
32. @ TS I € WM HINT 3
(%) A IFI@
(@) I SAMEd U
T
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1e] aieETa i 4,00,000
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e I 2,00,000
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30. (a) The transaction ‘Acquisition of machinery by issue of equity shares
of ¥ 5,00,00,000’ will result in : 1

(A) Cash inflow of ¥ 5,00,00,000 from financing activities
(B)  Cash outflow of ¥ 5,00,00,000 from financing activities
(C)  Cash outflow of T 5,00,00,000 from investing activities
(D) No flow of cash

OR

(b)  The transaction ‘Capital Gains Tax paid on sale of fixed assets’ is
classified under which of the following : 1

(A)  Operating Activities

(B) Investing Activities

(C) Financing Activities

(D) Cash and Cash Equivalents

31. Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of the company as per Schedule III Part I of the
Companies Act, 2013 : 3

(a) Long Term Loans from Bank
(b)  Loose Tools
(c) Outstanding Expenses

32. From the given information, calculate : 3
(a) Quick Ratio

(b) Inventory Turnover Ratio

. Amount

Particulars )

Current Assets 4,00,000
Inventory 1,00,000
Current Liabilities 2,00,000
Net Profit Before Tax 7,20,000
Revenue from Operations 10,00,000
Gross Profit Ratio 20%
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33. (%) Shenew fafies & feu e feufa faawor & gmma steer w1 fufa feemor
aam hifsr
31 AT, 2023 1 st ferfires =t feufa feramor
P— =ﬁ2 31.3.2023 31.3.2022
4. (%) (%)
I - THAT Ud 29dT0 :
1. yweh/IRuRs i
(%) 91/ A 4,00,000 2,50,000
2. 379 <A
(%) <releprefia o 2,00,000 1,50,000
3. = qFdrg
(%) AT T 2,00,000 1,00,000
£ 8,00,000 5,00,000
II - ufEra i~
1. 3r=d uiEwiEt
(%) vl giwrafaat /et
HIA T TR0 AT I
4,00,000 3,50,000
2. = gt
(%) Wi 2,00,000 70,000
(@) =ATaTieh g 2,00,000 80,000
E3d 8,00,000 5,00,000
AT
(@) ffafied g=@1 | 31 A, 2022 qT 2023 H FHE L I 6 [IQ
TS ATH-BTH fIator a9 i
P— =ﬁ2 2022 —23 | 2021 -22
g. (%) (%)
T B 3T 10,00,000 8,00,000
HHAN fEaeny == 2,50,000 1,00,000
I 5,50,000 4,00,000
L 50%
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AN
33. (a) From the given Balance Sheet of Geox Ltd., prepare Common Size
Balance Sheet : 4
Balance Sheet of Geox Ltd. as at 315t March, 2023
Particul Note | 31.3.2023 | 31.3.2022
articulars No. - >
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 4,00,000 | 2,50,000
2. Non-Current Liabilities
(a) Long-term Borrowings 2,00,000 1,50,000
3.  Current Liabilities
(a) Trade Payables 2,00,000 1,00,000
Total 8,00,000 | 5,00,000
II - Assets :
1. Non-Current Assets
(a) Fixed Assets/Property,
Plant and Equipment
and Intangible Assets 4,00,000 | 3,50,000
2. Current Assets
(a) Inventories 2,00,000 70,000
(b) Trade Receivables 2,00,000 80,000
Total 8,00,000 | 5,00,000
OR
(b)  From the following information, prepare a Comparative Statement
of Profit and Loss for the year ended 315t March, 2022 and 2023 : 4
Particul Note | 2022 - 23 2021 — 22
articulars No. (%) (%)
Revenue from operations 10,00,000 8,00,000
Employee benefit expenses 2,50,000 1,00,000
Other expenses 5,50,000 4,00,000
Tax rate 50%
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EENELE RIS IELRGI SN 72,000
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™
fopew - 11
(etRreRfers wraieR )
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34. From the following information, calculate ‘Cash Flows From Operating

Activities’: 6
A t
Particulars rr(lg)m
Surplus i.e. Balance in Statement
of Profit and Loss 6,28,000
Provision for Tax 1,50,000
Proposed Dividend for the previous year 72,000
Depreciation 1,40,000
Loss on Sale of Machinery 30,000
Gain on Sale of Investments 20,000
Dividend Received on Investments 6,000
Increase in Current Liabilities 1,61,000
Increase in Current Assets
(other than cash and cash equivalents) 6,00,000
Decrease in Current Liabilities 64,000
Income Tax Paid 1,18,000
PART B
OPTION -11
(Computerised Accounting)
27. Data, , , Hardware and Software are five pillars
of Computerised Accounting System (CAS). 1

From the following, which two pillars of CAS are missing in the above

statement :

(A)  Printer and Mouse

(B)  People and Procedures
(C) Mouse and CPU

(D) Information and Accounts
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(B)  3ffehgl dtefiehtul
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29. THHA e H TS 91 G AThgl ol feha] AT § Teifaa fopam S wehar

22 1
A 4 B) 12
(C) 20 D) 7
30. (%) &g fagar IHR
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28. (a) Name the Accounting Information sub-system which deals with

receipt and payment of cash and electronic funds transfer : 1
(A) Sales and Accounts Receivable sub-system

(B)  Purchase and Accounts Payable sub-system

(C) Cash and Bank sub-system

(D)  Costing sub-system
OR

(b)  When the accumulated data from various sources is processed in
one shot it is called : 1

(A) Real time processing
(B) Data validation
(C)  Batch processing

(D)  Processing and revalidation

29. How many categories of data can be plotted on a pie chart in Excel

software ? 1
A 4 (B) 12
) 20 D) 7
30. (a) Codes Dealer Type
100 — 199 Cycle tyres
200 — 299 Cycle seats

From the following, identify the type of code used by a trading
company : 1

(A)  Block code
(B)  Sequential code
(C) Mnemonic code

(D) Secret code

OR
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(b)  Correct ##### appears : 1
(A)  When column is not wide enough.
(B) When a number is divided by zero.
(C)  When value is not available.

(D) When there are exceptions of summary of data.

31. Explain the terms ‘Doughnut’ and ‘Exploded Doughnut’ as types of
charts. 3

32. Explain ‘Transparency and Control’ and ‘Accuracy and Speed’ as features

of Computerised Accounting System. 3
33. (a) State any four advantages of Computerised Accounting System. 4
OR

(b)  Explain ‘Password security’ and ‘Data audit’ as security features of

Computerised Accounting System. 4
34. Explain the two syntax forms of ‘Lookup’ function. 6
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